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2002 2 | QUINCY | QSVI-20

2006 £ | QUINCY | QSVI-20 |XE#E| 20 | 319 |CFM | itk
2006 % | QUINCY | QSVI-20 |FE#E | 20 | 319 | CFM | B AR EH
2010 %F | QUINCY | QSVB-25 | FE#E | 25 | 365 | CFM | R AR ERE
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H P QSVI-20 £ QSVI-50 # # € 5 319 ACFM+730 ACFM=1049 ACFM (=
1782 m3h) » & i & 8,760 -] pF » & B 7 2.5 & o 5 2018/8/28 -1t *
FLUKE 1736 % 4 £ ] > Quincy # QSVI-20 ~ QSVI-50 = #f & 7 & jf 45 /R pF
TR (#F) £ 5 4776 KW(18.64 KW +29.12kW > B 2~ @ 3) - H ¢ >
QSVI-20 = A # @ d > 2006 & (> > wRF A% o LT A WFEEE > B

3-¢ EFIT 2018/08/28 16:01 a: 3-¢ BEIT 2018/08/28 15:48 &

21.36kvA 32.84«kw
10.45kvar 18-64kW 15.18kvar 29.12kW
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1. > 1 2 50hp Atlas Copco GHS 1900 VSD+7% »c 5 %45 2. £ 2 Rif (B 4)-
P8 R kv 4 2. 20hp QSVI-20 #2 50hp QSVI-50 2 % & if  #7 Atlas
Copco GHS 1900 VSD+% »c 2 %45 & 5 R jf Rfedod 2o

Permissable
Nominal Ultimate ol . Noise level | ambient . Sh
Displacement | Pressure S range tlemperature. Inlet | Outlet ~ L
Machine type fange connection
Size
i e i AN 1 £
GHS 350 DN8o 2w
VSDs 400 240 0.35 16 4.2 51-65 046 (PN6) bsp 55 7.5
GHS 585 - DN8o 2%
VSDs 560 330 0.35 16 4.2 51-68 0-46 (PN6) bsp 7.5 10
GHS 730 DN8o 2w
VSD+ 730 430 0.35 16 42 51-73 0-46 (PN6) bsp 1 15
GHS 900 DNso 2w
VSO 870 510 0.35 16 4.2 5176 0-46 (PN6) bsp 16 20
GHS 1300 DN150  DN100
VSDs 1300 765 0.35 40 10.5 65-75 0~46 (PN10) (PN10) 22 30
GHS 1600 DN150 DN100
VSDs 1600 942 0.35 40 105 65-79 0-46 (PN10) (PN10) 30 40

|GHS1900 - DN150 DN100 I
VSD+ 1800 1119 0.35 40 10.5 65-80 0-46 (PN10) (PN10) a 50
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B 5 < 124750 hp VSD #4424t £ B 6 ~ 7c (5 47 50 hp VSD 158 1k i

AAFR & 100 mbar i 2T o i E > 2 S F B 319 ACFM+730 ACFM=1049
ACFM (=1782m3/h) % 4% 18.64 kW +29.12 KW =47.76 KW -
zz 3L 8 20hp QSVI-20 #2 50hp QSVI -50 E 7 & B B > :z B #7 50hp Atlas Copco
GHS 1900 VSD :‘s FHIE2LE TR p*%“#*fi + 100 mbar p& L 35§ 45 7 11.26
KW (4B 5) §F5 3 &% 66%5‘ P (4oB6) G BA%GnE AR o BT
FER %wm%ﬂ¢Wﬁo

W oy 2 &apt 5§

£FHEPFE = 8,760 h/#

(1)& =& &5 s F 1 (47.76-11.26)kW™* 8,760 h/#= = 319,740 kWh/= -

(2)& i 7 * 1 319,740kWh/# *2.5 ~/kWh=799,350 ~/& - (1 AT 25~ &
(B)Fr 1 CO2 £ 2x & : 169,142 kg/#= ((105 & CO24: & & » & kW-h 5 0.529 kg)

(4) & e vt 3 =(47.76-11.26)kW=+47.76kW =36.5 KW/47.76 KW = 76.4 % -
(AZFa v FRg - Sl %5 20~50%z2 i £ )

(5)# » = #:1,105,000 =~ o

(6)f§ * w4z 2 1,105,000 /799,350 ~/#=1.38 & -




